FI6EITAI—XEEBET —F ) —K2202445 R REH 2025/1/22
CHLINYYE

IR T [ 70m | 70m | Bif (10X XB | T ERXGHEI ) Ba®k | ok
(DRC_70M (B F)50m %

1 X F ] [ 294 [ 282 [ 576 | 9 | 1 |#mERF—Fr)—hamnE FRGE-E%YH] BEE
(DRC_70M (B F) 40kt

1 &F £ 243 251 494 5 0 TBET—F)—H= R 2
JIE 2 2 % 60m | 60m | &&t | 10+X% | X# TtEEXIIEIZT - HE EHRE
@Ro_aoM(%%)sob‘-’ﬂt

1 #H — = 316 318 634 20 4 BHHT7—F— BEHE
2 1 H xh 238 | 275 | 513 8 1 BEE7—FI—0257 ZERAT
AR IAVE _

(Efz | #% | & | 60m | 50m | 40m | &af | 10+XB| XW | T ERZNETEI ) mah | Sk
(DRC_900 (BF) 10m ik

1 | 71y | #E [ 215 | 220 | 268 [ 703 | 15 | 2 ] BEE7—F S | BER
(QRC_900 (ZF)505E

1 =4 | E® [ 146 | 181 | 248 | 575 | 7 | 2 | ACHT %8  FEE
(@RC_900 (& F) 405K 1t

1 | 2 [ H#F | 20 [ 216 [ 250 | 666 | 10 | 4 | ERhm7—Fz)—HB% [ #HBE
Q)CP_900 (B F)60mEHt

1 | #@ | /\FTHE | 283 | 290 | 294 | 867 | 63 | 31 | (B)EFAL5E ==
@CP_900 (& F) 605K 1t

1 o [ E# ] 273 [ 273 [ 273 [ 819 [ 31 | 12 ] BEBEERIV=VY BESRT
(B5)BB_900 (BF) 108kt

1 | ®F% | AHEE | 97 | 168 | 214 | 479 | 5 [ 2 | BRM7—F— =
(5BB_900 (B F)60i% 1t
1 /INEE i 184 175 | 210 | 569 3 1 NFRH7—FrU—H= TER
IE{L [t £ 70m | 70m | &% 0+X%h | X% TEAXINEI D mas BHE
(DRC_70M (B F) 401t

1 E3]m] LB 315 309 624 15 4 Finest Tennis College =1
2 G HA 267 271 538 19 4 INEFH7—Fz— Tm::r: E3E-
3 ES Lz 244 267 511 7 0 REAT7—Fz)—%& e
®RC_70M (ZF)40% 1t

1 H H = 277 294 571 6 3 —BEm7—FI)—H= EHIE
| IEfL o £ 50m | 50m | &t  10+X% | X TEXARINEI D et ZHRE
QCP_50M(BF)60m% 1t

1 [ /BR[| B | 299 | 302 | 601 | 18 | 9 | EHxmr—Fz)— =
QCP_50M (B F)50F% ¢

1 EETTEES 309 [ 304 [ 613 | 11 | 1 | BAEEKRX S =
A0CP_50M (ZF) 40i% 1t

1 FtE | HhF 302 300 602 12 7 FLFiakatt EAE
NE AL % £ 60m | 60m | &t | 10+X% | X# TEEXEIMEIZT S ZHE
(HYRC_60M (B F)40% 1%

1 [ B [ EF ] [ 244 | 230 [ 474 | 2 [ 1 ] BEB7—Fr)—057 | THE
H—FIAVE _

IEf | 4 | % | 60m | 50m | 40m | &t [10+X%K | X | ELREAEIZIT-HE | ERE
(DRC_900 (BF) 10m ik

1 Rz FiE 229 257 269 755 15 6 mEm7—F—EE FEER
2 bt % 236 232 265 733 18 4 Brah7—F)—8%BE FTER
3 il R 223 241 263 727 14 3 mEm7—F)—1BE FEER
4 JIlE Se Al 219 232 258 709 9 1 B8 7—FI)—He FEER
(DRC_900 (B F) 60wt

1 INS S 226 240 260 726 15 6 ACHT % FEER
2 i) E81T 207 224 236 667 8 1 N i a‘:‘)—a_m KR AF
3 [ITES2Y] EA 177 221 242 640 9 2 WEHm7—Fz)— FEER
4 )il Eie) 187 204 246 637 11 3 iﬁ”&ﬁi?—?l')—’rﬁ%% FARE
(DRC_900 (B F)50% 1t

1 /NH EE 253 260 262 775 16 5 mRm7—F)—Bs TEER
2 el B 175 217 253 645 7 1 FEDEFEDRKR—YH5T FEER
(QRC 900 (ZF) 70t

1 kB [ RF | 125 | 153 [ 222 [ 500 | 7 | 4 ] ACHT % | FEE
(QRC_900 (ZF) 605kt

1 | &A% | =& | 61 | 137 | 170 | 368 | 3 | 1 | BEX7—F)—BHS | EAR
(QRC_900 (ZF)50%t

1 k& T #0F [ 177 | 227 ] 255 | 659 | 11 | 4 | FEER7—F)—HE S
(QRC_900 (ZF) 40K

1 . HE | AEF | 187 | 220 | 243 | 650 | 6 | 5 | AEH7—Fz!)— | KIRFF
(3)CP_ 900(%%)80‘&1‘:

1 5 248 264 280 792 26 12 FERHT7—F)—1HE BFE
2 i #L 232 248 257 737 12 2 REBEX7—F )& EE

B)CP_900 (B F) 1081t




1 R | —1§ | 253 266 | 282 | 801 28 8 | HEEHFMAHGT—FI)—HE | FEEH

B)CP 900 (B F) 60k 1t

1 | =0 | BA— | 264 | 277 | 290 | 831 39 13 ERM7—Fz!)— | EFE

@)CP_900 (B F)50m% 1t

1 H XA 259 251 260 770 20 6 EFET7T—FI—B= =EFE

2 Tl = 219 230 257 706 8 3 {EABFAC FEER

@CP_900 (ZF) 60kt

1 [ IREA | BAF | 252 244 | 268 | 764 19 8 | A A E It (BR) | AFE

(5BB_900 (B F)70i®% 1t

1 | =R | @ | 181 224 | 248 | 653 9 4 ] EZRHH7—FI)—HE | BHE

(5)BB_900 (B F) 40t

1 B i RE 138 193 211 542 1 0 EAHTT7—F—H= ZHME

[ w4 £ 70m | 70m | &t | 10+X¥ | X# TEZX GBI e R

(DRC_70M (B F)80m% L

1 | #Ix | Rah | 273 | 262 | 535 13 1] EEE7—Fz)—EH | EEE

(DRC_70M(BF)70i% L

- 181 | 224 | 405 3 1] amr—F)—Bs [ #HBE

(DRC_70M (B F) 601t

1 M3 5 ER 283 287 570 13 7 EEE7—Fz)—EH EEE

2 i HA 243 272 515 3 0 BREENST7—FIU—HE BREE

3 EH B4 244 236 480 5 2 ERT7—F)—1t%E& e e

(DRC_70M (B F)50m% 1t

1 =P i 292 280 572 10 3 REFH7—F)—HE Bt

BRC_70M (ZF) 60t

1 | /BE | R | 238 | 242 | 480 5 2 | amr—F)—Bs [ #HBE

(B®RC_70M (ZF)50% 1%

1 KAR BF 294 302 596 11 2 BhRT7—Fx')— E X

2 BEE [ 289 295 584 9 4 NEFHT7—Fz!)— ’rm: E X

3 g HiEEF 203 223 426 1 0 —Bm7—Fz)—HE ZHE

| {2 [t £ 50m | 50m | &FF [10+X# | X%k TEEXIEIFEIZZ -HE e

QCP 50M(B¥)80F% 1t

1 R BE 299 303 602 14 3 BEHT7—F)—B= =2F&

2 T =— 279 293 572 11 2 ERET7—F) % =2F&

QCP_ 50M(%%>70F;1t

1 [ g | —f& ] 302 | 296 | 598 10 4 | FEREmETAm7Z—FI)—BE | RE5E

(QCP_50M (B F)60i% 1k

1 N E 332 336 668 33 3 BXt7—F)—HE BEE

2 iy ] 1IEF0 309 298 607 14 3 EBNHm7—FI)—HE EIWE
HE IF— 261 272 533 5 1 s >7 mERAT

@CP 50M(BF)50m% 1t

1 | 2R | EREA| | 292 | 284 | 576 8 1] INGITENEY) TET

A0CP_50M (ZF) 505% ¢

1 IR F=F 235 239 474 8 2 | (BRAVIY—ER-HJSIFI—H FFE

JIE {52 o £ 60m | 60m | &F [ 10+xX% | X# TEZX IR s BEERE

(5RC_60M (B F) 105 %

1 | B&S | & 261 | 248 | 509 7 1] Bhr—Fz!)— [ FEe

(HYRC_60M (B F)60i% 1t

1 =i [=Fid 285 293 578 9 2 BRB7—F)—957 mERAT

2 = =] 300 257 557 9 2 BEG7—Fz)—Hs EE

@Ro_esom(%%)so%’ﬂt

1 Bl 313 304 617 15 0 ERENETEESEERK BEWE

2 S3H ;'z% 315 294 609 13 4 ZRRM7—FI)—H=E IREE |

JE{L i 2 50m | 50m | HEt [ 10+X# | X% TEEXEMEIZT-HE EHE |

(1DBB_50M (B F) 601t

1 By RS 269 258 527 6 3 EERE7—F1)—ER EER

2 IIE:S EHi 251 238 489 6 2 —EHT7—Fz)—HE E L

(1DBB_50M ( B F) 50kt

1 [N = 318 313 631 18 3 SIBINR7—F)—3E R

2 EE g 290 294 584 14 5 )71 R4 EEE

3 -_= 4 248 269 517 9 5 BTEG7 —FI')—Bs E

(9BB_50M(ZF) 108X

1 | ®RF | RF 267 | 265 | 532 4 1] EEE7—FI—ER | EEE

(9BB_50M (& F) 505 1K

1| #F | FEF ] 184 | 204 | 388 2 0| ko352 | ERAE




